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TR ITAT 4 T = # T AR (I E & M & o
FEIX 0.1 1.7 0.0 0.7 0.0
144, 700 440, 900 91, 000 257, 200 10, 500
23 23 15 15 1 39 39 1 1
R T IX. -0. 3 0.5 1.1 0.2
115, 100 196, 100 84, 700 135, 700
16 16 8 8 3 27 27
KX 2.1 -1.0 -1.3 -1.7
82, 500 126, 400 62, 100 90, 400
22 22 8 8 4 34 34
FRA TR -0.8 0.7 -1.0 =0. 4 0.0
114, 500 296, 600 74, 200 167, 700 10, 500
61 61 31 31 8 100 100 1 1
X 0.7 2.1 1.3
92, 900 196, 000 136, 700
23 23 17 17 40 40
WX 0.0 2.2 0.9 0.6
71, 000 101, 000 54, 500 76, 700
9 9 3 3 1 13 13
75 X 0.8 -2.4 0.9 =0.9 1.1
52, 500 65, 400 33, 600 53, 000 910, 000
11 11 2 2 1 14 14 1 1
X =3.0 0.0 =0.7 -2.6
49, 300 81, 000 40, 500 51,100
11 11 1 1 1 13 13
JEX -0.6 -1.6 =0.9 -1.3
34, 600 51,900 40, 900 583, 500
7 7 4 3 11 10 2 2
EALIX -0. 1 0.0 -0. 1
60, 900 85, 300 64, 400
6 6 1 1 7 7
KX —2.1 -1.6 -1.9 =0.7
11, 100 25, 800 15, 100 27, 600
8 8 3 3 11 11 1 1
BN =) -0.6 0.9 0.4 0.2 1.1
61, 200 136, 000 42,900 82, 000 526, 200
75 75 31 30 3 109 108 4 4
BT -2.4 —2.1 0. 4 =2.2 -3.8
81, 700 164, 600 51,900 100, 300 510, 000
25 24 8 8 1 34 33 1 1
BN -1.0 0.9 -0.5 -1.2
53, 700 119, 500 71, 700 160, 000
8 8 3 3 11 11 1 1
=B 0.1 0.6 0.3
106, 900 206, 300 135, 300 750, 000
10 9 4 4 14 13 1
5 LEh -1.4 =0.7 0.0 -1.3 -1.6
38, 200 71, 600 28, 600 42,700 470, 000
26 26 5 5 1 33 32 2 2
By -1.7 1.1 -1.3 =0.7
33,700 88, 200 67, 800 142, 000
3 3 5 4 8 7 1 1
B -1.4 -2.3 -0. 3 -1.5 1.1
51, 600 60, 000 31, 400 52, 500 455, 000
11 11 4 4 1 16 16 1 1
EER -1.0 =0.7 -0.1 =0.9 -2.8
63, 500 86, 900 39, 200 67, 500 350, 000
34 34 10 10 2 46 46 1 1
B =0.7 -0.6 1.4 -0.6 1.1
46, 700 62, 900 21, 500 49, 500 870, 000
18 18 6 6 1 25 25 1 1
T -2.4 -5.5 =2.7
51, 400 54, 700 51, 800
15 15 2 2 17 17
B -1.3 -1.6 -1.5 -1.4 -2.3
42,900 67, 000 26,100 49, 600 840, 000
12 12 6 6 1 19 19 1 1
EF =0.7 -0. 3 1.1 -0.6 -1.0
60, 300 76, 300 43,900 63, 200 197, 000
16 16 5 5 1 22 22 1 1
TR 0.0 =0. 4 2.2 0.1 -1.2
67, 400 95, 000 28, 000 66, 400 253, 000
10 10 1 1 1 12 12 1 1
"I -0.9 0. 4 0.0 =0.7
39, 100 57, 300 35, 200 43, 400
8 8 3 2 1 12 11
ek =0. 4 =0.5 0. 4
54, 700 91, 300 66, 900
2 2 1 1 3 3
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i XHTH 44 £ = H = Hb LA i pE 3 M T 2% 2 A & VNI
TEEF i -0. 3 0.0 0.0 -0. 3 -1.6
75, 700 120, 000 41,100 76, 700 120, 000
8 8 1 1 1 10 10 1 1
178 -1.2 =0.5 0.0 =0.9 -2.3
46, 600 79, 600 24,100 47,900 987, 000
6 6 1 1 1 8 8 1 1
e -2.9 2.2 -2.6 -2.5
35, 300 58, 300 43, 600 39, 000
7 7 4 11 11 1 1
TEETIG -1.3 0.8 -1.2 -2.8
15, 200 26, 400 17, 400 350, 000
4 4 1 5 5 1 1
251 i =0.9 —2.1 -1.2
27,700 60, 700 36, 000
3 3 1 4 4
FEOES -1.8 -0.7 -1.5
66, 000 95, 300 74, 800
7 7 3 10 10
o B T -2.5 -3.1 -1.6 -2.6 =2.9
32, 300 37, 500 18, 800 31, 800 1, 020, 000
3 3 2 1 1 6 6 1 1
B5 = -1.3 1.1 -0. 1 -1.2 -1.9
56, 700 91, 000 32, 700 63, 700 469, 600
236 234 76 14 13 326 321 17 16
Brmahiat 1.1 -0.2 —0.4 -0.8 “1.7
67, 100 147, 300 47, 200 86, 900 459, 000
372 370 138 135 25 24 535 529 22 21
W EHT -1.9 -1.7 -1.8 -1.9
34, 800 62, 600 44,100 101, 000
2 2 1 1 3 3 1 1
T ] 0.8 -1.2 =0.9 1.7
24, 800 41, 900 30, 500 29, 000
2 2 1 3 3 1 1
i O AT 2.3 2.3
15, 800 15, 800
2 2 2 2
NG -3.2 -1.9 =2.7
24,100 52, 100 33, 400
2 2 1 3 3
A =2.9 -1.9 —2.7
27, 300 47,500 31, 400
4 4 1 5 5
B Ay 0. 2 0.0 -0.1 -3.1
95, 300 111, 000 97,900 465, 000
5 5 1 6 6 1 1
s /KT 0.0 -1.5 -0.4
113, 000 131, 000 117, 500
3 3 1 4 4
IEEYT 0.2 0.7 0.3
107, 600 137, 000 113, 500
4 4 1 5 5
JINLAT 1.4 -1.0 -1.3
34, 500 49, 500 36, 400
7 7 1 8 8
R 0. 4 4.6 -1.8
40, 300 28, 800 36, 400
2 2 1 3 3
JITFRAHT —2.7 0.4 =2.2
11, 100 27, 400 14, 300
4 4 1 5 5
Ry =0.7 -0.5 -0.6
28, 600 39, 500 32, 200
2 2 1 3 3
DEREED -1.3 -1.3 -1.3 =2.2
50, 700 66, 200 54,100 198, 300
39 39 11 50 50 3 3
P z 1.1 -0. 3 0. 4 =0.9 1.7
65, 500 141, 300 47, 200 84,100 427,700
411 409 149 146 25 24 585 579 25 24
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